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Answers and Suggested Mark Scheme

Question | level Answer comments
la da | a) £14.48 1 mark
1b b) £9.52 1mark
1c 5b | ¢) 10092 2marks
2a da | a) £0.84 or 84p 1 mark
2b 5b b) 47 (1 mark for correct working but incorrect answer ) 2 marks
3a 4b | a)0.03,0.217,1.07,1.1, 2.206 1 mark
3b b) 3.257 1 mark
4 5b 25/8 1 mark

5 5b 2/3 1 mark

6 5b | Any correct fraction eg 7/12 1 mark

7 5b Y.kg, 400g, 0.5kg, 0.6kg, 2/3 kg 1 mark

8 5b 9 4 4 marks

20 50

9a 4b a) £8.25 1 mark
9% b) £31.35 1 mark
9c c) 6pens 1 mark
9d d) £0.55or 55p 1 mark
10a 5c a) £54 1 mark
10b b) £7or £7.00 2 marks
1lla da a) 35por £0.35 1 mark
11b b) 45p or £0.45 1 mark
12a 5b a) 125ml 1 mark
12b b) 375ml 1 mark
13a 5b a) Parisand M oscow 1 mark
13b b) 16.5°C 1 mark
14a 5c a) reception total 30, Y4 boys 16, girlstotal 106 3 marks
14b 5a b) 28 children 1 mark
15a 5b a) 485Hong Kongdollars 1 mark
15b b) £30 1 mark
15¢c ¢) 160-170H.K dollarsinclusive 1 mark
16a 5c a) 36 pupils 1 mark
16b b) no- explanation needed eg 5 out of 1 mark

10 ishalf of the marks. Only 18
children scored 5 or more marks

17a 4da a) (3,-2 1 mark
17b 5¢C b) (6,7.5) 2 marks
18 3b Tick thelast shape-Trapezium 1 mark
19 4b Tick the second shape 1 mark
20 5c Tick thethird angle 2 marks
2la da a) 35cm 1 mark
21b 5¢C b) 73.5cm? 1 mark




22 5b 8cm 1 mark
23a da a) 851 1 mark
23b da b) 607 1 mark
23c da c) 68 1 mark
23d da d) 2002 1 mark
23e 5a e 18 1 mark
23f 5a f) 14 1 mark
24 5a £17356.50 1 mark
25 5a 877 programmes 1 mark
26 5a 121 pencils 1 mark
27 5b 18 carriages 1 mark
28 5c | 4234g or 4.234kg or 4kg 234g 1 mark
29 da 360 bags 2 marks

1 mark for correct method eg 90x4 or

90000 + 250
30 5a 90 boys 1 mark
31 5b Van- £21.00- £141.00 3marks

Mini bus- £26.25- £176.25
Coach- £33.25- £223.25

Total Marks

66




Y 6 Draft Thresholds

Block 1 Block 2

5A 60+

5B 48+

5C 60+ 34+

4A 48+ 24+

4B 34+ 16+

4C 22+ 10+

3A 12+ 6+

3B 6+ Lessthan 6
3C 3+
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